1. Join each box to the correct number.

One has been done for you.

A Y

30
6 x5
32
half of 98
44
double 4 x 4
49
1 mark
2. Calculate 239 + 182
1 mark
3.  The numbers in this sequence increase by 75 each time.
Write in the two missing numbers.
AN 725 800 875 950
2 marks
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4, On a sheet of stickers there are 5 circles, 2 stars and one rectangle.

00000
B &

How many stickers are there altogether on 4 sheets?

A

1 mark
Nisha needs 55 circles.
How many sheets of stickers does she need?

1 mark
Ben has 10 sheets of stickers.
How many more circles than rectangles does he have?

1 mark

North Cave Primary School 2



5. Here is a number chart.

Circle the smallest number on the chart that is a multiple of both 2 and 7

A

71 72 73 74 75 76 77 78 79 80

81 82 83 84 85 86 87 88 89 90

91 92 93 94 95 96 97 98 99 100

1 mark
Here is the same number chart.
Circle the largest number that is not a multiple of 2 or 3 or 5
71 72 73 74 75 76 77 78 79 80
81 82 83 84 85 86 87 88 89 90
91 92 93 94 95 96 97 98 99 100
1 mark

6. A shop sells scarves and hats.

scarves £7.95 each hats

£6.50
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Ben buys one of the scarves and the £4.50 hat.

How much change does he get from £20?

A Y

Show
your working.
You may get
a mark.

2 marks
Emily buys two scarves and a hat.
What is the most she could pay?
£
1 mark
7. Calculate 364 + 7
1 mark

8. Here are four digit cards.
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1
4 2
Use each digit card once to make the decimal number nearest to 20

A

1 mark

9. Calculate 45.3 X 6

1 mark

d el0. % of this square is shaded.
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The same square is used in the diagrams below.

What fraction of this diagram is shaded?

a4

1 mark

What fraction of this diagram is shaded?

4

1 mark
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11. Ben thinks of a number.

He adds half of the number to a quarter of the number.

The result is 60

What was the number Ben first thought of?

Show
your working.
You may get
a mark.
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12. The numbers in this sequence increase by 7 each time.

1 8 15 22 29

The sequence continues in the same way.

Will the number 777 be in the sequence?

Circle Yes or No. \ Yes / No

Explain how you know.

1 mark
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13.

Emily makes 250 grams of a snack mixture.
15% of the weight is raisins, 25% is banana chips and the rest is peanuts.

How many grams of peanuts does she use?

A

Show
your working.
You may get
a mark.
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14. Join each number to the set of numbers that it belongs to.

One has been done for you.

% 357

199
73
1000

224
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1 to 100

101 to 200

201 to 300

301 to 400

401 to 500

greater
than 500

2 marks
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15.

Bottle of milk

39p
Ben buys three bottles of milk and six cakes.

How much does he spend altogether?

A Y

cake

29p

Show
your method.
You may get
a mark.

16. Emily has these coins.
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How much more money does Emily need to make exactly £5?

A

1 mark

Nisha has thirty 5p coins and twenty 10p coins.

How much money does she have altogether?

1 mark

17. Nisha says,

6When you halve any even number,
the answer is always an odd number 6.

/7

Is she correct?

Circle Yes or No. \ Yes / No
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Explain how you know.

A Y

1 mark

18. Shade % of this shape.

A

1 mark

2 marks
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Emily buys two scarves and a hat.

What is the most she could pay?

\ 19. Here are five digit cards.

1 3 4 6

Use each card once to complete the statements below.

A

North Cave Primary School

~ ) ( N\
8| >1|5
. J/ \_/H
~ ) 'd N\
0| < |2
. J \_/H
> |7

2 marks
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20. Emily chooses two numbers.

She adds the two numbers together and divides the result by 2
Her answer is 44

2QH RI (PLO\YV QXPEHUYV LV

:KDW LV (PLO\TV RWKHU QXPEHU"

A

2 marks
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